
F32  Brad Nailer Explosive View and Parts list
Issue date:   

Version no.:

No. Description Qty. No. Description Qty. No. Description Qty. No. Description Qty.

Bolt
Reversing Spring
Air Reversing cap
Bolt M5*20
Spring washer
Cylinder cap
Sealing washer
Compressed spring
O-ring 13.7*2.4
O-ring 31.2*2.5
Head valve piston
Buffer gasket
Oring 24.8X3.5
Sealing washer
Collar
O-ring  41.7*3
O-ring 26.2*2.4
Cylinder

O-ring 21*3

Main piston
Bumper
Gun body
Rubber washer
O-ring 1.7*2
Rectangle washer
Switch knob
Trigger pole

Valve bush
O-ring 11.2*2

Compressed Spring
Trigger Pin
Trigger
Safety spacer
Pin 2.5*16

Slide plate frame
Spring
Safety Stand
Safety cap

Cover Board
Driver Guide
Inlay Slice
Fixed magazine

Movable magazine
Bolt M4*10
Locating seat
Bolt M4*12
Bush
Bush pole
Bush compressed Spring
Bolt M4*10
Bolt M4*14
Plate
Bolt M4*16
Locating stem
Fixed seat

Bolt
Nut M4

Handle sheath
O-ring 36.3*3.55
End Cap
Connector
Connector protecting jacket


